0.138 (.018) 0.057 (.009) 0.055 (.007) 0.046 (.006) 0.025 (.005) 0.057 (.010)

LAZ15 LAZ 18 LAZ 21 LAZ 24

1.000 (.000) /
1000 C000) 5.000 (.000)
1.000 (.000) “ 4.000 (.000)

1,000 (.000) o 3,000 (.000)
1.000 (.000)

2.000 (.000)

1.000 (.000)  1.000 (.000)

0.855 (.084) 0.855 (.084)

-0.018 (.007)

Supplementary figure 1: Unconditional latent growth curve model (without quadratic term) showing the
intercept and slope as latent variables for the trajectory of the outcome variable LAZ score without

adjusting for any covariates; Numbers represent the coefficient (standard error) values of the association;
i=intercept; s=slope.



